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QUESTION 1
Refer to the Exhibit.

Configure Serices inftach.adgoegw ]

DMCP | MAT | Firewall Siatic Rooting VPN Load Balancer

Mebwork Address Translahon (MAT) modiftes the source/dsslinason IP addresses of packets amnang to and leaving rom this Edge Galeway
Source NAT (SNAT) bansialos the source address of 3 packet belora leaing this galeway, whereas Destinaioo MAT{DNAT) ransiates the destnason IP
adarpsaipon of 3 packe! recened by his poleway

Appligd O Tyew gl 18 Origingl Pt Tra=dilahe3 if Tra=ilalss Pert Prodost Emadipg

ExDuecitiel = SMAT 162 1681024 any 1013112169 any AR o

ExtDirpcitiol | DMNAT W 1.12.165 50000 10.10.10.50 , 22 TCP v

Extlerecilol . SMAT T8 10024 any 10,131, 12069 ary AR v

ExiDerecitiet - DMAT 10013112168 40010 1TL16. 1025 3360 TCP L
Add SHAT AQE DHAT

An administrator finds that users are unable to connect to the virtual machine at IP address 192.168.1.20 over port 22.
Based on the exhibit, what should the administrator do to resolve the problem?

A. Change the Translated Port from 22 to any.

B. Change the Protocol from SSH to any.

C. Create a DNAT rule with IP 192.168.1.20 and port 22 to pass traffic.

D. Create a SNAT rule with IP 192.168.1.20 and port 22 to pass traffic.

Correct Answer: C

QUESTION 2

An administrator needs to change the network a virtual machine will attach to. The virtual machine is deployed using
vCloud Automation Center, but when the administrator attempts to modify the configuration, the requested network is
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not displayed.

Why is the network unavailable in the interface?
A. It is unavailable in the Provisioning Group.

B. It is unavailable in the Reservation.

C. Itis unavailable in the Blueprint.

D. Itis unavailable in the Build Profile.

Correct Answer: B

QUESTION 3
During the installation of ESXi 5.5, the following error message is reported:

Hardware Virtualization is NOT a feature of the CPU, or is NOT enabled in the BIOS. Which condition would generate
this message?

A. LAHF/SAHF is NOT enabled in the BIOS.

B. NX/XD is NOT enabled in the BIOS.

C. SSE3 is NOT enabled in the BIOS.

D. Hyperthreading is NOT enabled in the BIOS.

Correct Answer: A

QUESTION 4

A vCloud Automation Center administrator has created and published a blueprint. Attempting to test a request of the
blueprint does not show the catalog item associated with the blueprint.

What additional configuration is required to test the blueprint?

A. Log in as a member of the Business Group with entitlements to the Service associated with the Blueprint.
B. Log in to another Tenant that has access to the blueprint.

C. Add a new reservation to the Business Group that is entitled to the service associated with the blueprint.
D. Log out and log back in so the Blueprint becomes visible.

Correct Answer: A

QUESTION 5

An administrator needs to enable a cluster to be used by vCloud Automation Center.
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The cluster has the following configuration:

Which change to the cluster must the administrator make?
A. Enable HA.

B. Add additional ESXi hosts to the cluster.

C. Enable DRS.

D. Create a resource pool.

Correct Answer: C
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